

NWOWI AMARACHUKWU BAKAH

ISENGO/1009

CHEMICAL ENGINEERING

ENG 381

1

$$y = e^{x^2+x}$$

$$a \quad y' = (2x+1) e^{x^2+x}$$

$$y'' = (2x+1)(2x+1) e^{x^2+x} + 2(e^{x^2+x})$$

$$y'' = (2x+1)(2x+1) (e^{x^2+x}) + 2(e^{x^2+x})$$

$$\text{and } y \Rightarrow e^{x^2+x}, \quad y' = (2x+1) e^{x^2+x}$$

$$\therefore y'' = 2x+1 (y^{(1)}) + 2(y^{(0)})$$

$$b \quad y'' = 2x+1 (y^{(1)}) + 2(y^{(0)})$$

$$y'' - 2x+1 (y^{(1)}) - 2(y^{(0)}) = 0$$

$$y^{(2)} - 2x+1 (y^{(1)}) - 2(y^{(0)}) = 0$$

$$W_1^{(n)} = y^{(n+2)}$$

$$W_2^{(n)} = y^{(n+1)} (2x+1) + n y^n (2)$$

$$W_3 = y^{(n)}$$

$$= y^{(n+2)} - [y^{(n+1)} (2x+1) + n y^n (2)] - 2y^{(n)}$$

$$0 = y^{(n+2)} - y^{(n+1)} (2x+1) - 2n y^{(n)} - 2y^{(n)}$$

$$0 = y^{(n+2)} - y^{(n+1)} (2x+1) - [2n y^{(n)} + 2y^{(n)}]$$

$$0 = y^{(n+2)} - y^{(n+1)} (2x+1) = 2y^{(n)} [n+1]$$

$$y^{(n+2)} = y^{(n+1)} (2x+1) + 2y^{(n)} [n+1]$$

$$\therefore y^{(n+2)} = 2x+1 (y^{(n+1)}) + 2(n+1) [y^{(n)}]$$

$$2a) y = x^3 e^{4x}$$

$$\text{let } u \Rightarrow e^{4x}$$

$$v = x^3$$

From Leibnitz theorem

$$y^{(n)} = u^{(n)}v + n u^{(n-1)}v' + n(n-1) u^{(n-2)}v^2 + \dots$$

$$\dots + \frac{n(n-1)(n-2) u^{(n-3)} v^3}{3!} \dots$$

$$u = e^{4x}$$

$$v = x^3$$

$$u^{(1)} = 4e^{4x}$$

$$v' = 3x^2$$

$$u^{(2)} = 16e^{4x}$$

$$v^2 = 6x$$

$$u^{(3)} = 64e^{4x}$$

$$v^3 = 6$$

$$u^{(4)} = 256e^{4x}$$

$$v^4 = 0$$

$$u^{(5)} = 1024e^{4x}$$

$$v^5 = 0$$

$$y^{(5)} = 1024e^{4x} x^3 + 5 \cdot 256e^{4x} 3x^2 + \dots$$

$$\dots + \frac{5(4) 64e^{4x} 6x}{2!} + \frac{5(4)(3) 16e^{4x} 6}{3!} + \dots$$

$$\dots + \frac{5(4)(3)(2) 4e^{4x} (0)}{4!} + \frac{5(4)(3)(2)(1) e^{4x} (0)}{5!}$$

$$y^{(5)} = 1024e^{4x} x^3 + 3840e^{4x} x^2 + 3840e^{4x} x + 960e^{4x}$$

BIENGO1109

$$b \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y^{(2)} + x y^{(1)} + y^{(0)} = 0$$

$\uparrow$                        $\uparrow$                        $\uparrow$   
 $w_1$                        $w_2$                        $w_3$

$$w_1^{(n)} = x^2 y^{(n+2)} + n y^{(n+1)} 2x + n(n-1) y^{(n)} \cdot 2 + 0 \dots \dots$$

$2!$

$$w_2^{(n)} = x(y^{(n+1)}) + n y^{(n)} + 0$$

$$w_3^{(n)} = y^{(n)}$$

$$x^2 y^{(n+2)} + n y^{(n+1)} 2x + n(n-1) y^{(n)} \cdot 2 + x(y^{(n+1)}) + n y^{(n)}$$

$2!$

$$+ y^{(n)} = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} 2xn + n(n-1) y^{(n)} + x(y^{(n+1)}) + n y^{(n)} + y^{(n)}$$

$= 0$

$$x^2 y^{(n+2)} + y^{(n+1)} [2xn + x] + y^{(n)} [n(n-1) + n + 1] = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [x(2n+1)] + y^{(n)} [n^2 - n + n + 1] = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} x [2n+1] + y^{(n)} [n^2 + 1] = 0$$

$$\therefore x^2 y^{(n+2)} + x(2n+1) y^{(n+1)} + y^{(n)} [n^2 + 1] = 0$$